Geometry 21 Practice 3.1-3.2

1 Find the measures of each of the numbered angles in the figure below.
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Find the value of the variables in each diagram. Show all work!
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Classify each pair of angles as;
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Write the 2 column proofs below;

17. Given: f||s
Prove: m<5+m<2 180°
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18. Given: tlls; m<7=81°
Prove: m<1=99° e
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37. m/_ACII X424°, msDCH=X-8° Tind mZACH.
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39. msEFH=2X-142°, mzACH=X+16° Find
m<ACH.
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41, msBCD=X+26° m£BFG=2X-24°, Find
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40, m£GFB=x%+32°, m£DCH=X--24°. Find
m£DCH.
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42 msADF=2X+4°, m«HEC=4X-14° Find
msHEC.
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Bubble all the correct answers from above. Don't bubble incorrect answers.
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Bubble all the correct answers from above. Don't bubble incorrect answers.
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